Interpreting Linear Graphs

My, G b keeping track of how many flowers bloom n his garden. His daia is below, with number of flowers (F)
and the number of wesks {w). He wanis o find an equation so he can predict how many flowers he will hae!
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Write the equatioe:
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<) Predict the number of flowers after 12 weeks

=1

F= (01245 = (205> (25|~

| . N

%\

A H
N

:'lq"l _ :I /EC%
) " O 0 0 O 9 e
5 \}3 " f"zg

[t )iz
Sl e |
Sor, O, ey

R 20 |

Cud * Fg‘h"Fc‘!..?;m

Wiite the c'q-uun'n.rr.'-ﬂ'# = ~7 ?H= j_{ Write r.ir: eirarion. Iﬂ;ﬂ' i
}f: —21:' -I"'L'Ill Y"_ %HJZ
mh?*jtﬂﬂ'm'ﬂfﬁ?ﬂ'{# ._l'h

y= “YH) 4= B o | Y=

Chack _mrfreqlmfm:{ﬂ. " I:;. i

|

i
J.'E_I _?- - _;E',_"E

el 2" o)
=2

:gw
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Straight up and down lines are called |.,E";-"-‘r-f £ 51‘{ imes. Th'rhltlh:mi wilue everywhere!
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